Complete the first quadrant portion of the unit circle below. Simplify all answers. SCORE: /8 PTS

Inside the circle, label the radian measure of each point. ] (2 POINTS OFF
- Qutside the circle, label the corresponding X — and ) — coordinates of each point. FOR EACH ERROR)

(o, 1)

Suppose SinZ = —% . Fill in the blanks below. Simplify all answers. SCORE: /13 PTS
[a] The reference angle for ¢ is 2 radians.

fb] ¢ could be in quadrant(s) z o éf‘_

- 47 . 20
[c] The possible value(s) of ¢ is (are) 3 =R NOTE: Your answer(s) must be between 0 and 27 |

Let @ = —2Z  Fill in the blanks below. Simplify all answers, SCORE: /11 PTS
, o I . NV .
[a] 0 is coterminal with 2. radians. NOTE: Your answer must be between 0 and 27 | A VIR A
P
. L .
[b] The reference angle for & is 2 radians.

[c] cotd = O 2 %
A
)

[d] cscl = [ o




Let @ be an angle such that cosé = % and sin @ =~ . Fill in the blanks below. Simplify all answers.

SCORE: __ _/12PTS
[a] cscf = 77 -
4z

[b] cos(—0) = 4 cos©

PR e /U SR B 2]
[c] tanf = %7 - . Qg—? 453 3t
[d] sec(2-0)=_ — =4 . Csc &
Suppose CSC{ =% and ¢0S¢ < 0. Fill in the blanks below, Simplify all answers. SCORE: {10 PTS

[a] ¢ is in quadrant 2— .

lﬁ?Op(d.O

fb] Find the value of cOt? using identities, not triangles. INOTE: You must show the proper use of identities to get full credit

24 - - - ! . ) . e
cCot?t = czcrt —) coTt = ?bnge Qa%{;AOBQ@L
= 49 _
)
= HQ
A4
Prove the identity (3+sec#)(3—sec?) =8—tan’z. SCORE: /10 PTS
= A-gec't
= 94— U -x—-%vn’"’t)
= gk, _\_M\vt
Let ¢ be an acute angle such that sect = % . Fill in the blanks below. Simplify all answers, SCORE: /8 PTS
[a] Draw a corresponding right angle triangle, and label the lengths of all sides. J 61’7‘—-5°-f = @ 3 -y '
2 = =
[b] sinf = & . 201 Yy
= < ot ) m
[c] cots = 25 . :2_! ‘;/_’,‘ W




Fill in the blanks. SCORE: /6 PTS

Z 3
[a] An angle of 257” radians has a reference angle of = radians. 3'{&7 7l
Qm&’?
[b] sec(~17.8) = 2 .©0OZ2. . [Round your answer to 4 decimal places)
A funicular transports passengers from the entrance of a cave to the bottom of the cave along an inclined track. SCORE: /10 PTS

The bottom of the cave is 287 meters lower than the entrance, and is at an angle of depression of 28° from the entrance.

How long is the funicular’s track ? IShow proper work. State the units of your final answer, Round your answer to-2 decimal places)

Sim 28° = 2¥%7m ¥ = 2%7 o
o X Siva 287

{0
Cos ©2 2 61233 mn

- A merry-go-round is spinning at 10 revolutions per minute, SCORE; /12 PTS

and its outer edge has a linear speed of 600 feet per minute.

[a] Find the angular speed of the edge of the merry-go-round, and the radius of the merry-go-round.
[Show proper work. State the units of your final answers. Round your answer to 2 decimal places)

'O rREVoOLUTIONS = \0-2‘7"[tz ;"ZO?TP‘

L = 207"
MIUTE
ENZ;
V= v i) —> = X %Mgﬁ "
| - SR
[b] A sector of the merry-go-round was painted red, and had an area of 68 square feet, Find the central angle of the red sector.

[Show proper work. State the units of your final answer. Round your answers to 2 decimal places)

A=z 0"

2 (F e 3
O = 2E - 2Tl o | 4g
©=<= (455 e




